Filomat 34:2 (2020), 469–474 https://doi.org/10.2298/FIL2002469K



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Notes on the Poly-Korobov Polynomials and Related Polynomials

Burak Kurt^a

^aAkdeniz University, Department of Mathematics, Faculty of Educations, Antalya, TR-07058, Turkey

Abstract. In recent years, many mathematicians ([2], [7], [8], [9], [15], [16], [21]) introduced and investigated for the Korobov polynomials. They gave some identities and relations for the Korobov type polynomials. In this work, we give some relations for the first kind Korobov polynomials and Korobov type Changhee polynomials. Further, we give two relations between the poly-Changhee polynomials and the poly-Korobov polynomials. Also, we give a relation among the poly-Korobov type Changhee polynomials, the Stirling numbers of the second kind, the Euler polynomials and the Bernoulli numbers.

1. Introduction, Definitions and Notations

A usual, throughout this paper, \mathbb{N} denotes the set of natural numbers, \mathbb{N}_0 denotes the set of nonnegative integers, \mathbb{Z} denotes the set of integer numbers, \mathbb{R} denotes the set of real numbers and \mathbb{C} denotes the complex numbers. We begin by introducing the following definition and notations (see also [11]-[15], [17], [19], [20], [21]). It is well known, the Bernoulli polynomials $B_n(x)$ and the Euler polynomials $E_n(x)$ are defined by the following generating functions, respectively;

$$\sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} = \frac{t}{e^t - 1} e^{xt}, \ |t| < 2\pi$$
(1)

and

$$\sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} = \frac{2}{e^t + 1} e^{xt}, \ |t| < \pi$$
(2)

when x = 0, $B_n(0) = B_n$ and $E_n(0) = E_n$ are called the Bernoulli numbers and the Euler numbers. Generating function for the Stirling numbers of the second kind are given by

$$\frac{(e^t - 1)^k}{k!} = \sum_{n=0}^{\infty} S_2(n, k) \frac{t^n}{n!}$$
(3)

Received: 08 January 2019; Revised: 02 February 2019; Accepted: 11 May 2019

²⁰¹⁰ Mathematics Subject Classification. 11B68; 11B73, 11S80.

Keywords. Bernoulli polynomials and numbers, Euler polynomials and numbers, Generating Function, Korobov polynomials, Korobov type Changhee polynomials, Poly-Bernoulli, Poly-Euler polynomials, Stirling numbers of the second kind.

Communicated by Yilmaz Simsek

Research supported by the Scientific Research Project Administration of Akdeniz University. This article is dedicated to Professor Gradimir V. Milovanovic on the Occasion of his 70th anniversary. The author is deeply grateful to the anonymous referee for his/her suggestions for improvements of the text.

Email address: burakkurt@akdeniz.edu.tr (Burak Kurt)

where *k* is nonnegative integer ([9], [21]).

The classical polylogarithm function $Li_k(z)$ is defined

$$Li_k(z) = \sum_{n=1}^{\infty} \frac{z^n}{n^k}, k \in \mathbb{Z}, k > 1.$$

$$\tag{4}$$

This function is convergent for |z| < 1, when k = 1, $Li_1(z) = -\log(1 - z)$ in [12].

The poly-Bernoulli polynomials are defined as ([1], [6], [12])

$$\frac{Li_k(1-e^{-t})}{e^t-1}e^{xt} = \sum_{n=0}^{\infty} \mathcal{B}_n^{(k)}(x)\frac{t^n}{n!}.$$
(5)

For k = 1, we have $\mathcal{B}_n^{(1)}(x) = B_n(x)$, $n \ge 0$. For x = 0, $\mathcal{B}_n^{(k)} := \mathcal{B}_n^{(k)}(0)$ are called poly-Bernoulli numbers. Hamahata *et al.* in [3] defined the poly-Euler polynomials as

$$\frac{2Li_k(1-e^{-t})}{t(e^t+1)}e^{xt} = \sum_{n=0}^{\infty} \mathcal{E}_n^{(k)}(x)\frac{t^n}{n!}$$
(6)

when x = 0, $\mathcal{E}_n^{(k)} := \mathcal{E}_n^{(k)}(0)$ are called poly-Euler numbers.

The Korobov polynomials $K_n(x \mid \lambda)$ of the first kind are given by the generating function

$$\frac{\lambda t}{(1+t)^{\lambda}-1} (1+t)^{x} = \sum_{n=0}^{\infty} K_{n} (x \mid \lambda) \frac{t^{n}}{n!}.$$
(7)

When x = 0, $K_n(\lambda) = K_n(0 \mid \lambda)$ are called Korobov numbers of the first kind ([2], [9], [21]).

D. S. Kim *et al.* in [7] introduced and investigated some properties of the Korobov polynomials of the third kind $K_{n,3}(x \mid \lambda)$ and the Korobov polynomials of the fourth kind $K_{n,4}(x \mid \lambda)$.

D. S. Kim *et al.* in ([9], [10]) defined the Changhee polynomials and the Korobov type Changhee polynomials, respectively:

$$\sum_{n=0}^{\infty} Ch_n(x) \frac{t^n}{n!} = \frac{2}{t+2} (1+t)^x$$
(8)

and

$$\sum_{n=0}^{\infty} Ch_n \left(x \mid \lambda \right) \frac{t^n}{n!} = \frac{2}{\left(1+t \right)^{\lambda} + 1} \left(1+t \right)^{x}.$$
(9)

Srivastava [17] and Srivastava *et al.* in ([17]-[20]) gave some theorems and recurrence relations for the classical Bernoulli polynomials, the classical Euler polynomials and the classical Genocchi polynomials. Korobov ([11], [13]) introduced the Korobov polynomials. Hamahata in [2], Bayad *et al.* in [1], Imatomi *et al.* in [4] and D. Kim *et al.* in [6] defined and investigated some properties and relations for the poly-Bernoulli polynomials and poly-Euler polynomials. D. S. Kim *et al.* in [9] considered and investigated some relations for the Korobov type polynomials associated with *p*-adic integrals. Seo *et al.* in [16] considered the degenerate Korobov polynomials. Kruchinin in ([14], [15]) gave explicit formulas for Korobov polynomials. Yardimci *et al.* in [21] gave some identities for Korobov type polynomials.

2. Explicit Relations For The Korobov Polynomials, The Changhee polynomials and The Korobov Type Changhee polynomials and Related Polynomials

In this section, we give some relations the Korobov polynomials and the Korobov type Changhee polynomials. Also, we give a relation the poly-Korobov type Changhee polynomials and the Euler polynomials.

Theorem 2.1. The Changhee polynomials satisfy the following relation

$$\sum_{n=0}^{m} E_n(x) S_2(m,n) = \sum_{l=0}^{m} \sum_{n=0}^{l} Ch_n(x) S_2(l,n) S_2(m,l).$$
(10)

Proof. By replacing *t* by $e^{(e^t-1)} - 1$ in (8) and by (2), we get

$$\sum_{n=0}^{\infty} Ch_n(x) \frac{\left(e^{(e^t-1)}-1\right)^n}{n!} = \sum_{n=0}^{\infty} E_n(x) \frac{\left(e^t-1\right)^n}{n!}.$$

After some calculations by (3) and using the Cauchy product in the above equation, we have

$$\sum_{m=0}^{\infty} \left(\sum_{l=0}^{m} \sum_{n=0}^{l} Ch_n(x) S_2(l,n) S_2(m,l) \right) \frac{t^m}{m!} = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} E_n(x) S_2(m,n) \frac{t^m}{m!}.$$

Comparing the coefficients of both sides, we get results. \Box

Theorem 2.2. There is the following relation between the Changhee polynomials and the Korobov polynomials

$$K_n\left(x+\lambda\mid\lambda\right) - K_n\left(x\mid\lambda\right) = \lambda n \left(Ch_{n-1}\left(x\right) + \frac{1}{2}\left(n-1\right)Ch_{n-2}\left(x\right)\right).$$
(11)

Proof. By (7) and (8), we write

$$\frac{(1+t)^{x}(t+2)}{t+2} = (1+t)^{x} \frac{(1+t)^{\lambda}-1}{(1+t)^{\lambda}-1}$$
$$\frac{2(1+t)^{x}}{t+2} + \frac{t(1+t)^{x}}{t+2} = \frac{(1+t)^{x+\lambda}}{(1+t)^{\lambda}-1} - \frac{(1+t)^{x}}{(1+t)^{\lambda}-1}$$
$$\sum_{n=0}^{\infty} Ch_{n}(x) \frac{t^{n}}{n!} + \frac{t}{2} \sum_{n=0}^{\infty} Ch_{n}(x) \frac{t^{n}}{n!} = \frac{1}{\lambda t} \left(\sum_{n=0}^{\infty} (K_{n}(x+\lambda \mid \lambda) - K_{n}(x \mid \lambda)) \right) \frac{t^{n}}{n!}.$$

From here, we have

$$\lambda n \left(Ch_{n-1} \left(x \right) + \frac{1}{2} \left(n-1 \right) Ch_{n-2} \left(x \right) \right) = K_n \left(x + \lambda \mid \lambda \right) - K_n \left(x \mid \lambda \right).$$

Theorem 2.3. There is the following relation between the Korobov type Changhee polynomials and Korobov polynomials

$$K_{n}(x + \lambda \mid \lambda) - K_{n}(x \mid \lambda) = \frac{\lambda n}{2} \left(Ch_{n-1}(x + \lambda \mid \lambda) + Ch_{n-1}(x \mid \lambda) \right)$$

Proof. The proof of this theorem is similiar to **Theorem 2.2**, we omit it. \Box

Theorem 2.4. *The following relations hold true:*

$$K_n \left(x + \lambda \mid \lambda \right) = K_n \left(x \mid \lambda \right) + \lambda n \left(x \right)_{n-1}$$
(12)

and

$$Ch_n(x + \lambda \mid \lambda) = 2(x)_n - Ch_n(x \mid \lambda), \text{ where } (x)_n = x(x - 1)...(x - n + 1) \text{ for } n > 0.$$
(13)

Proof. It is easy known that

$$\frac{2}{\left((1+t)^{\lambda}-1\right)(1+t)^{\lambda}}=\frac{2}{\left(1+t\right)^{\lambda}-1}-\frac{2}{\left(1+t\right)^{\lambda}}$$

Thus, we have

$$\frac{2(1+t)^{x}}{(1+t)^{\lambda}-1} = \frac{2(1+t)^{x+\lambda}}{(1+t)^{\lambda}-1} - 2(1+t)^{x}.$$

By using (7), we write

$$\frac{2}{\lambda t} \sum_{n=0}^{\infty} K_n \left(x \mid \lambda \right) \frac{t^n}{n!} = \frac{2}{\lambda t} \sum_{n=0}^{\infty} K_n \left(x + \lambda \mid \lambda \right) \frac{t^n}{n!} - 2 \sum_{n=0}^{\infty} \left(x \right)_n \frac{t^n}{n!}.$$

Thus, we have

$$\sum_{n=0}^{\infty} \left(K_n \left(x \mid \lambda \right) - K_n \left(x + \lambda \mid \lambda \right) \right) \frac{t^n}{n!} = -\lambda \sum_{n=0}^{\infty} \left(x \right)_n \frac{t^{n+1}}{n!}$$

Comparing the coefficients of $\frac{t^n}{n!}$, we get (12). The proof of the (13) is similar to that of (12), so we omit it. \Box

Theorem 2.5. There is the following relation between the Korobov polynomials and the Bernoulli polynomials:

$$\sum_{k=0}^{\infty} \frac{B_k\left(\frac{x+1}{\lambda}\right) - B_k\left(\frac{x}{\lambda}\right)}{k!} \lambda^k \sum_{l=0}^{k-1} \binom{k-1}{l} (-1)^{k-1-l} l^m = \sum_{l=0}^m \sum_{n=0}^l K_n\left(x \mid \lambda\right) S_2\left(l,n\right) S_2\left(m,l\right).$$
(14)

Proof. By replacing t by $e^{(e^t-1)} - 1$ in (7),

$$\frac{\lambda \left(e^{(e^t-1)}-1\right)e^{(e^t-1)x}}{e^{\lambda (e^t-1)}-1} = \sum_{n=0}^{\infty} K_n \left(x \mid \lambda\right) \frac{\left(e^{(e^t-1)}-1\right)^n}{n!}.$$
(15)

The right hand of (15) is

$$\sum_{n=0}^{\infty} K_n (x \mid \lambda) \sum_{l=n}^{\infty} S_2 (l, n) \frac{(e^t - 1)^l}{l!} = \sum_{l=0}^{\infty} \sum_{n=0}^l K_n (x \mid \lambda) S_2 (l, n) \sum_{m=l}^{\infty} S_2 (m, l) \frac{t^m}{m!}$$

$$= \sum_{m=0}^{\infty} \left(\sum_{l=0}^m \sum_{n=0}^l K_n (x \mid \lambda) S_2 (l, n) S_2 (m, l) \right) \frac{t^m}{m!}.$$
(16)

The left hand of (15) is

$$\frac{\left(e^{(e^{t}-1)}-1\right)\lambda}{(e^{\lambda(e^{t}-1)}-1)}e^{(e^{t}-1)x} = \frac{\lambda e^{(e^{t}-1)(x+1)}}{e^{\lambda(e^{t}-1)}-1} - \frac{\lambda e^{(e^{t}-1)^{x}}}{e^{\lambda(e^{t}-1)}-1} \\
= \frac{1}{(e^{t}-1)}\left(\frac{\lambda (e^{t}-1)e^{\lambda(e^{t}-1)\left(\frac{x+1}{\lambda}\right)}}{e^{\lambda(e^{t}-1)}-1} - \frac{\lambda (e^{t}-1)e^{\lambda(e^{t}-1)\frac{x}{\lambda}}}{e^{\lambda(e^{t}-1)}-1}\right) \\
= \sum_{k=0}^{\infty} \frac{B_{k}\left(\frac{x+1}{\lambda}\right) - B_{k}\left(\frac{x}{\lambda}\right)}{k!}\lambda^{k}\sum_{l=0}^{k-1} (-1)^{k-1-l}\binom{k-1}{l}\sum_{m=0}^{\infty} l^{m}\frac{t^{m}}{m!}.$$
(17)

From (14) and (15), comparing the coefficients of $\frac{t^m}{m!}$, we have (14).

The relation (14) and equation (6) in [16] are similarity. But the transformation is different. Finally, the relation (14) is true.

473

3. The Poly-Korobov Polynomials, The Poly-Changhee polynomials and The Poly-Korobov Type Changhee polynomials

By the motification in [9], we define the following the poly-Changhee polynomials, the poly-Korobov polynomials and the poly-Korobov type Changhee polynomials, respectively

$$\sum_{n=0}^{\infty} Ch_n^{(k)}(x) \frac{t^n}{n!} = \frac{2Li_k \left(1 - e^{-t}\right) \left(1 + t\right)^x}{t \left(t + 2\right)},\tag{18}$$

$$\sum_{n=0}^{\infty} K_n^{(k)}(x \mid \lambda) \frac{t^n}{n!} = \frac{\lambda Li_k (1 - e^{-t})}{(t+1)^{\lambda} - 1} (1+t)^x$$
(19)

and

$$\sum_{n=0}^{\infty} Ch_n^{(k)}(x \mid \lambda) \frac{t^n}{n!} = \frac{2Li_k(1 - e^{-t})}{t\left((t+1)^{\lambda} + 1\right)} (1+t)^x.$$
(20)

For k = 1, we get $Ch_n^{(1)}(x) = Ch_n(x)$, $K_n^{(1)}(x \mid \lambda) = K_n(x \mid \lambda)$ and $Ch_n^{(1)}(x \mid \lambda) = Ch_n(x \mid \lambda)$. The following relations can be easily from (18), (19) and (20).

$$\lambda n \left((n-1) Ch_{n-2}^{(k)}(x) + n Ch_{n-1}^{(k)}(x) \right) = 2 \left(K_n^{(k)}(x+\lambda \mid \lambda) - K_n^{(k)}(x\mid \lambda) \right)$$
(i)

and

$$\lambda \left(nCh_{n-1}^{(k)} \left(x + \lambda \mid \lambda \right) + Ch_n^{(k)} \left(x \mid \lambda \right) \right) = 2 \left(K_n^{(k)} \left(x + \lambda \mid \lambda \right) - K_n^{(k)} \left(x \mid \lambda \right) \right).$$
(ii)

Theorem 3.1. There is the following relation between the poly-Korobov type Changhee polynomials and the Euler polynomials

$$\sum_{m=0}^{\infty} (m+1) Ch_{m}^{(k)}(x \mid \lambda) S_{2}(n, m+1) (-1)^{n} = \frac{1}{\lambda} \sum_{p=0}^{n} \binom{n}{p} \sum_{m=0}^{n-p} \binom{n-p}{m} B_{n-p-m} \times (-\lambda)^{n-p} \frac{(-1)^{m+1} m!}{(m+1)^{k}} \left(E_{p}\left(\frac{x+\lambda}{\lambda}\right) - E_{p}\left(\frac{x}{\lambda}\right) \right).$$
(21)

Proof. By (20),

$$\sum_{n=0}^{\infty} Ch_n^{(k)}(x \mid \lambda) \frac{t^n}{n!} = \frac{2Li_k(1-e^{-t})}{t\left((t+1)^{\lambda}-1\right)} \left(\frac{(t+1)^{\lambda+x}}{(t+1)^{\lambda}+1} - \frac{(1+t)^x}{(t+1)^{\lambda}+1}\right).$$
(22)

By replacing *t* by $e^{-t} - 1$ in the last equation, we have

$$\sum_{m=0}^{\infty} Ch_m^{(k)}\left(x \mid \lambda\right) \frac{\left(e^{-t} - 1\right)^{m+1}}{m!} = -\frac{1}{t\lambda} \frac{\left(-t\lambda Li_k\left(-t\right)\right)}{e^{-t\lambda} - 1} \left(\frac{2e^{-t\lambda\left(\frac{x+\lambda}{\lambda}\right)}}{e^{-t\lambda} + 1} - \frac{2e^{-t\lambda\left(\frac{x}{\lambda}\right)}}{e^{-t\lambda} + 1}\right). \tag{23}$$

By using (1), (2), (3) and (4) in (23) and using Cauchy product and comparing the coefficients, we have (21). \Box

References

- [1] A. Bayad and Y. Hamahata, Polylogarithms and poly-Bernoulli polynomials, Kyushu J. Math., 65 (2011), 15-24.
- [2] D. V. Dolgy, D. S. Kim and T. Kim, Korobov polynomials of the first kind, Sbornik: Mathematics, 208(1), (2017), 60-74.
- [3] Y. Hamahata, Poly-Euler polynomials and Arakawa-Kaneko type zeta functions, Functione et App. Commentarii Math., 51(1) (2014), 7-22.
- [4] K. Imatomi, M. Kaneko and E. Takedo, Multi-poly-Bernoulli numbers and finite multiple zeta values, J. of Integer Sequences, 17 (2014), Art. 14.45.
- [5] M. Kaneko, Poly-Bernoulli numbers, J. Theory Numbers, 9 (1997), 221-238.
- [6] D. Kim and T. Kim, A note on poly-Bernoulli and higher order poly-Bernoulli polynomials, Russian J. of Math. Physics, 22(1) (2015), 26-33.
- [7] T. Kim and D. S. Kim, Korobov polynomials of the third kind and of the fourth kind, Springer plus, (2015), 4.608.
- [8] D. S. Kim, H. I.-Kwon and T. Mansour, Korobov polynomials of fifth kind and of the sixth kind, Kyungpook Math. J., 56(2) (2016), 329-342.
- [9] D. S. Kim and T. Kim, Some identities of Korobov-type polynomials associated with *p*-adic integrals on \mathbb{Z}_p , Advances in Diff. Equa., 1 (2015), 2015-282.
- [10] D.S. Kim, T. Kim and J. Seo, A note on Changhee polynomials and numbers, Adv. Stud. Theor. Phys., 7(20), (2013), 993-1003.
- [11] N. M. Korobov, On some properties of special polynomials, Chebyshevskii Sb., 1(1), (2001), 40-49.
- [12] L. Levin, Structural properties of Polylogarithms, Amer. Math. Soc., (1991).
- [13] N. M. Korobov, Special polynomials and their applications, diophantine approximations, Math. Notes, 2, (1996), 77-89.
- [14] D. V. Kruchinin and V. V. Kruchinin, Application of a composition of generating functions for obtaining explicit formulas of polynomials, J. Math. Anal. Appl., 404 (2013), 161-171.
- [15] D. Y. Kruchinin, Explicit formulas for Korobov polynomials, Proceeding of the Jangjeon Math. Soc., 20(1) (2017), 43-50.
- [16] J. J. Seo and T. Kim, Degenerate Korobov polynomials, App. Math. Sci., 10(4) (2016), 167-173.
- [17] H. M. Srivastava, Some generalization and basic (or q-) extensition of the Bernoulli, Euler and Genocchi polynomials, App. Math. Inf. Sci., 5 (2011), 390-444.
- [18] H. M. Srivastava and J. Choi, Series associated with the zeta and related functions, Kluver Academic Pub., Dordrect, Boston and London, (2001).
- [19] H. M. Srivastava, M. Garg and S. Choudhary, A new generalization of Bernoulli and related polynomials, Russion J. of Math. Phys., 17 (2010), 251-261.
- [20] H. M. Srivastava, B. Kurt and Y. Simsek, Some families of Genocchi Type polynomials and their interpolation function, Integral Trans. and Special Func., 12 (2012), 919-938.
- [21] A. Yardimci and Y. Simsek, Identites for Korobov-type polynomials arising from functional equations and *p*-adic integrals, J. of Nonlinear Sci. and Appl., 10 (2017), 2767-2777.